SMARTFLOOR

Renault Kangoo
Installation Manual

Manual nr 15011268 Rev04
Loyds Industri AS 2018-12-12



Revision Record

Rev nr Date Page Picture Update New Deleted
steps
Express 2 SLD,
3 2018/1/22 All All Maxi 1 SLD and
Maxi 2 SLD
04 2018/12/112 Floor set Rev

Recommended torque for screws:

4 2mm Selfdrilling: 3,6 NM

emm:
8mm:

6 NM
10NM

10-13 mm

o——

Torx Bits
TX 20
TX 25
TX 30




EXPRESS| Short version

MAXI Long version

LH Left hand side
RH Right hand side
L&R Left and right hand side

1SLD One sliding door

2SLD Two sliding doors

FD Front drawer

RD Rear drawer




15011100 Kit complete Kangoo Express 1SLD

EXPRESS 1 SLD

ltem Quantity | Part Number Description

A 1 15010861 RD Drawer 1000 900 Main Assy

B 1 15010635 FD1 Front Drawer 400-1200 Complete Assy
C 1 15011088 Steel Bracket Set Kangoo Express

D 1 15011092 Floor Set Kangoo Express 15LD

15011101 Kit Complete Kangoo Express 2SLD

EXPRESS)(2SLD
“ T

ltem Quantity | Part Number Description

A 1 15010861 RD Drawer 1000 900 Main Assy

B 1 15010862 FD2 Front Drawer 400-600 Complete Assy
C 1 15011088 Steel Bracket Set Kangoo Express

D 1 15012944 Floor Set Kangoo Express 2SLD

4




15011102 Kit Complete Kangoo Maxi 1SLD

15LD

ltem Quantity | Part Number Description
A 1 15010859 RD Drawer 1000 1200 Main Assy
B 1 15010635 FD1 Front Drawer 400-1200 Complete Assy
C 1 15012916 Steel Bracket Set Kangoo Maxi
D 1 15012942 Floor Kit Kangoo Maxi 1SLD
15011103 Kit Complete Kangoo Maxi 2SLD
25LD
ltem Quantity | Part Number Description
A 1 15010859 RD Drawer 1000 1200 Main Assy
B 1 15010862 FD2 Front Drawer 400-600 Complete Assy
C 1 15012916 Steel Bracket Set Kangoo Maxi
D 1 15012943 Floor Kit Kangoo Maxi 25LD

5




15011092_B Floor Set Kangoo Express 1SLD

EXPRESS

15LD

ltem Quantity | Part Number Description

D1 1 15011079 Floor Left SF Kangoo Express 1SLD

D2 1 15016319 Floor Right SF Kangoo Express ASSY
D10 1 15011091 U-profile 12mm L=1176

D11 1 15011093 Fitting Kit Floor Set Kangoo Express 1SLD

15012944 B Floor Set Kangoo Express 2SLD

<. @@ [(EXPRESS)(ZSID
®

ltem Quantity | Part Number Description

D3 1 15016318 Floor Left SF Kangoo Express 25LD ASSY
D4 1 15016319 Floor Right SF Kangoo Express ASSY

D10 1 15011091 U-profile 12mm L=1176

D11 1 15011093 Fitting Kit Floor Set Kangoo Express 1SLD




15012942 B Floor Set Kangoo Maxi 1SLD

N

MAXI

15LD

ltem Quantity | Part Number Description

D5 1 15012938 Floor Left SF Kangoo Maxi 1SLD

D6 1 15016317 Floor Right SF Kangoo Maxi ASSY

D10 1 15011091 U-profile 12mm L=1176

D12 1 15012941 Fitting Kit Floor Set Kangoo Maxi
15012943 B Floor Set Kangoo Maxi 2SLD

s @ MAXJ25LD

ltem Quantity | Part Number Description

D7 1 15012940 Floor Left SF Kangoo Maxi 2SLD ASSY

D8 1 15012939 Floor Right SF Kangoo Maxi ASSY

D10 2 15011091 U-profile 12mm L=1176

D12 1 15012941 Fitting Kit Floor Set Kangoo Maxi




15011088 Steel Bracket Set Kangoo Express

EXPRESS

ltem Quantity | Part Number Description

C2 1 15010926 Bracket Rear Left Kangoo ASSY

C3 1 15010927 Bracket Rear Right Kangoo ASSY

C4 1 15010928 Bracket Front Right Kangoo ASSY

C5 1 15010929 Bracket Front Left Kangoo ASSY

C6 1 15011003 Bracket Middle Right Kangoo

C7 2 15011031 Bracket Latchcup M8 Multi Right ASSY
C8 2 15011032 Bracket Latchcup M8 Multi Left ASSY
C9 2 15011049 Bracket Latchcup Rear Kangoo ASSY
C10 1 15011276 Profile Connection Front Floors 400
C1 1 15012911 Bracket Middle Left Kangoo

C14 1 15012935 Cover Slide Door Right Kangoo ASSY
C15 1 15012936 Cover Slide Door Rear Left Kangoo ASSY




15012916 Steel Bracket Set Kangoo Maxi

ltem Quantity | Part Number Description

C1 2 15010225 Bracket Stiffener Middle Right T5 w heater ASSY
C2 1 15010926 Bracket Rear Left Kangoo ASSY

C3 1 15010927 Bracket Rear Right Kangoo ASSY

C4 1 15010928 Bracket Front Right Kangoo ASSY

C5 1 15010929 Bracket Front Left Kangoo ASSY

C6 1 15011003 Bracket Middle Right Kangoo

C7 1 15011031 Bracket Latchcup M8 Multi Right ASSY

C8 1 15011032 Bracket Latchcup M8 Multi Left ASSY

C9 2 15011049 Bracket Latchcup Rear Kangoo ASSY

C10 1 15011276 Profile Connection Front Floors 400

C1 1 15012911 Bracket Middle Left Kangoo

C12 2 15012914 Bracket Floor Middle Kangoo Maxi

C13 2 15012915 Distance Bracket FD RD Kangoo Maxi ASSY
C14 1 15012935 Cover Slide Door Right Kangoo ASSY

C15 1 15012936 Cover Slide Door Rear Left Kangoo ASSY
C16 2 15013166 Bracket Middle w Latch Flexi ASSY

C17 2 05-99626 Avstandskloss 300x40x9




15010236 Handle Assy

é“
@ \

@

Q5

@

15010236 Handle Assy
ltem Quantity | Part Number Description
E8 1 15009441 Handle Tube 25x15x286
E9 2 15009442 Spacer @8,3x18x30 Nylon Black
E10 2 15009443 Spacer @8,1x13x6mm Galv
E11 2 15009444 Screw M8x50 Cylinderh Hex
E12 2 8 NMU Mutter M8 Nyloc DIN985
E13 2 8,4x17x2 M8 Washer, DIN 125
D14 2 15009438 End Plug Tube 25x15 Inside

10




Fitting Kit

15003551 15004443 6 NMU
M6x16 TX30 pan (DIN 7985) M5x16 TX20 pan A4 M6 Self locking nut, DIN 985-8
F4 F6 F5
15005027 4,2x16 FL 15009568 Screw 4,8x32 Selfdrill
M5 Popnut Hex-body Selvborr skrue, flathode, elzn Counters Torx Elz
F7 F8 g F9
15012937 15004713 8x40 6KS
Screw M6x110 6kt Elz M8x50 screw Black Elzn M8x40 mm Bolt, DIN 933, sort
F10 F11 F12
7 '! :
8x20 6k 15005884 Washer 15005497 Latch Cup Black @90
M8x20 screw Latchcup for @8 @12x15 1000Kp
F13 F14 F15

0
®

8,4x23x2
M8 Stoppskive, DIN 9021

15001584
Distansehylse D20 d13 h15

o

11,3x18x12
Distansehylse B-223, plast

F16

F17

F18

F19

F20

F21

1




P For vehicles equipped with Loyds Panel & Wheelcover kits only
[




RD J([EXPRESS

13



14




15




16




17




=
(EXPRESS](1 SLD)
(EXPRESS](2 SLD)

BN (VMAXI[1SLD

MAXI]{2 SLD

18



25LD) 4.

MAXI

40.

19



